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SPL 2021
SURVEYING-II

Fruifa e 149 (FAfrEHan 37 : 70
Time allowed : 1% Hours] [Maximum Marks : 70
AAe: () ¥ yvT FfAard 8, 9w A G 5 @ F I A |

Note : Question No. 1 is compulsory, answer any TWO questions from the remaining.

(i) §%F J99 F G 97T HI FHEGR TF G157 B3 |
Solve all parts of a question consecutively together.
(i) Nc% 597 &1 74 98 8 R Fiford |
Start each question on fresh page.
(iv) @il yraisi 7 si=r 817 1 A 7 3 srgae @ i 8 |

Only English version is valid in case of difference in both the languages.

. () foeiense d g &t gamr ayn qEe & gae § Sia e Hif |

Differentiate in between ‘swinging the telescope’ and ‘transiting the telescope’ in
theodolite.

(i) ‘e’ Ud YR Pl A |
Explain ‘Latitude’ and ‘Departure’.
(iii) Preptrfidia aeg #i afonfya Hif |
Define trigonometrical levelling.
(iv) 2frandied gdeau & = fafaw |
Write down the advantages of tacheometric surveying.
(v) EehHYT F3h o 3891 I GHSET |

Explain the objectives of transition curve. (4x5)

2. Trareeme & faftm wril @1 wes foa 6t wemar @ avia Fifsg |
Describe the various parts of a theodolite with the help of neat diagram. (25)

(10f 4) P.T.O.
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(i) 3=l VT & W19 g ATAT-3@v fhe TR fopar sman @ 7
How is traversing done by the measurement of included angles.
(i) TN % HqeH &q 39ET | ot 9 areft ‘gifere fafy’ @t wwemsu |

Explain “the transit method’ to be used for the balancing of a traverse. (12%:+12%)

u vere W fra e & ofid Q it S 7ma e & foe & R fag P R & e
feRm  parRFdRA gl 100d. B3MIQAMArud R | Pa R w Qi 3N I~
10 FHHI: 28°42' T 18°6' & | Teh 285 i, F et fug W T Wg@iE 2.870 m & 3.750 .
9T T, @ 39T P @ R W A 3R gfe Y dfes oft | a2 i 4 SarE g9 smam W
4+t 2 ot et & ae1 &1 sferaem sma hifdm |

In order to ascertain the elevation of the top Q of the signal on a hill, observations
were made from two instrument station P and R at a horizontal distance 100 m apart,
the station P and R being in line with Q. The angles of elevation of Q at P and R were
28°42' and 18°6' respectively. The staff readings upon the bench mark of elevation
285 m were respectively 2.870 m and 3.750 m when the instrument was at P and at R,
the line of sight being horizontal. Determine the elevation of the foot of the signal if
the height of the signal above its base is 4 metres. (25)

(i) 2frandiet & ftis k 9 ¢ %1 uM 71 0 6 et v fafy &1 aof i |

Describe any one method of determining the values of tacheometric constants k
and c.

(i) T S % I9AN e HEe $) GHIE

Explain the uses and importance of anallatic lens. (16+9)

(i) ashar 319 9 gshal T § GeY g9 |

Explain the relation in between degree of curvature and radius of curvature.

(ii) =t Sfransdi & e fgwra’ faf gro aeet gefta @0 A Pramad ) when i
HHATRY |

Explain the process of setting out a simple circular curve by “Successive
bisection of arcs or chords’ method. (12%4+12%)
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(i) = grofi § v wren-t@r ABCDA $ t@nsii 6 avard 9 fegnm fed e #, e
@1 DA %) v g fepu 313ma 8 | T DA 6 ovand 3 fesam sma i |

W o ()  Remm

AB 76.50 30°20"
BC 182 108°30'
CD 62.50 212°30'
DA ? 2

The table below gives the lengths and bearings of the lines of a traverse ABCDA.
The length and bearing of line DA are omitted. Determine the length and bearing

of the line DA.
Line  Length Bearing
(Metre)
AB 76.50 30°20"
BC 182 108°30'
CD 62.50 212°30'
DA ? ?
(i) PriEemEe gr fed dieft T o1 famar & 6t fafy 1 @wsmse |
Explain the method of prolonging a straight line by theodolite. (16+9)
Frfefga w wfige feofort fafay -
Write short notes on the following :
(i) e
Closing Error
(i) d&eH B
Subtense bar
(iii)) 3 EH

Vertical curves (9+8+8)
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